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Sample Problem 4 A coil has an inductance of 53 mH and
resistance of 0.35 L. {a) If a 12-V emf is applicd, how much
energy is stored in the magnetic field after the current has built
up 1o its maximum value? (b) In terms of 7, how long dues it
1ake for the stored energy to reach half of its muximum value?
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: Sample Problem?7 Comparc the cnergy required to set up.ina

- cube 10¢m on odge, (a) a uniform-clectric field of 1.0 X 10 V/m

- and (b) a-uniform magnetic field of 1,0 T. Both these ficlds would
be judged reasonably large but they are readily available in the
laboratory. °
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. Saaple Predlem 8 A 1.5-u4F capacitoris chargsd 16 57 V. The
cbarging battéry is then disconnected and a . 2-1..11 coil is con-
nected acrose the capacitor, so that LC cscillations occur, What
is the maximum cumreret in the coil? Assume that the circuit
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2‘ l(C’)-In an oscillating LE circuit what velue of charge expressed
in terms of the meximum charge is present on the capacitor

S‘afw}g ZE Pro b[em : 9 when the cnergy is shared equally bctwcc.n' the electric and

magaetic fields.

(b) At what time will this condition occur assuming-the

capacitor to be fully charged initially? Assume L = 12 mH
and C=17uF. ’
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